Click number attached
to the part or the part
numbers on the next
pages to link to other
parts, some parts may
have no link

14
REF PART NO. DESCRIPTION QTY REF PARTNO. DESCRIPTION QTY
1 29566 WDMT, Radiator STAND, 2007 .......... 1 11 29398 Seal, Rubber, Fan Shroud, Tier 3 ........ 10FT
2 30290 Radiator, Cooling Module, MY10........ 1 12 29447 WDMT, Tube, Radiator Strut............... 2
3 19492 Isolator, Mount, Cab, Rubber.............. 2 13 32024 Spacer, Strut, MY09 .........cccoiiienes 2
4 19351 Nut, Lock, Top, 5/8” - 11, ZP, GRC .....2 14 41441 Bolt, HHCS, 1/2” - 13 X 3-1/2” GR8....2
5 23898 Washer, 11/16” X 2-1/2” X 3/16” ......... 2 15 30081 Isolator, Mount, RAD Support, Tier 3..2
6 29868 Surge Tank, Individual, 16 29661 Spacer, 2" OD X 1.25"ID X 1/4” ......... 2
MODINE, EPA-O7 ...covvveeeeeeeeeiieeeee, 1 17 19331 Washer, Flat, 1/2”, ZP .......cccouvveeeenn... 4
7 30661 Cap, Surge Tank, MODINE, Tier 3 ..... 1 18 29604 Bolt, HHCS, 1/2” - 13 X 1.5,
8 29382 Shroud, Radiator, Tier 3...................... 1 GR8ZINC...ooeveeeeeeeeeeeeeeeeee e 2
9 19127 Bolt, HHCS, 1/4” - 20 X 1", GRS......... 20 19 19354 Nut, Auto Style, 1/2” - 13, GRC........... 2
10 32519 Washer, Flat, 1/4”, 20 19093 Washer, Structural, 1/2”,
FEND, ZP, 1.0"OD ......c.coeeeeeeeeeene 20 ASTM, A325, PF ..o, 4

WHEN ORDERING PARTS, SPECIFY MODEL NUMBER, SERIAL NUMBER AND DESCRIPTION OF PARTS REQUIRED
GROUP

DATE: Released 01-2016

TEREX. |RADIATOR PACKAGE, ISX ENGINE [ MobeL: /o 3

PAGE: 3.1



http://www.mixerandplantparts.com/Weldment-Radiator-Stand-2007-p/29566.htm
http://www.mixerandplantparts.com/Weldment-Radiator-Stand-2007-p/29566.htm
http://www.mixerandplantparts.com/Radiator-Cooling-Module-My10-p/30290.htm
http://www.mixerandplantparts.com/Radiator-Cooling-Module-My10-p/30290.htm
http://www.mixerandplantparts.com/Terex-Advance-Cab-Mount-Rubber-Isolator-For-Cab-R-p/19492.htm
http://www.mixerandplantparts.com/Terex-Advance-Cab-Mount-Rubber-Isolator-For-Cab-R-p/19492.htm
http://www.mixerandplantparts.com/5-8-18-Locknut-p/19351.htm
http://www.mixerandplantparts.com/5-8-18-Locknut-p/19351.htm
http://www.mixerandplantparts.com/Terex-Advance-Washer-Flat-11-16X2-1-2X3-p/23898.htm
http://www.mixerandplantparts.com/Terex-Advance-Washer-Flat-11-16X2-1-2X3-p/23898.htm
http://www.mixerandplantparts.com/Terex-29868-Surge-Tank-Black-Plastic-Modine-EPA0-p/29868.htm
http://www.mixerandplantparts.com/Terex-29868-Surge-Tank-Black-Plastic-Modine-EPA0-p/29868.htm
http://www.mixerandplantparts.com/Terex-Advance-Tier-3-Modine-Surge-Tank-Cap-p/30661.htm
http://www.mixerandplantparts.com/Terex-Advance-Tier-3-Modine-Surge-Tank-Cap-p/30661.htm
http://www.mixerandplantparts.com/Shroud-Radiator-Tier-3-p/29382.htm
http://www.mixerandplantparts.com/Bolt-HHCS-1-4-20-x-1-Grade-8-p/19127.htm
http://www.mixerandplantparts.com/Bolt-HHCS-1-4-20-x-1-Grade-8-p/19127.htm
http://www.mixerandplantparts.com/Seal-Rubber-Fan-Shroud-Tier-3-p/29398.htm
http://www.mixerandplantparts.com/Seal-Rubber-Fan-Shroud-Tier-3-p/29398.htm
http://www.mixerandplantparts.com/Weldment-Tube-Radiator-Strut-p/29447.htm
http://www.mixerandplantparts.com/Weldment-Tube-Radiator-Strut-p/29447.htm
http://www.mixerandplantparts.com/Spacer-Strut-My09-p/32024.htm
http://www.mixerandplantparts.com/Spacer-Strut-My09-p/32024.htm
http://www.mixerandplantparts.com/Isolator-Mount-Rad-Support-Tier-3-p/30081.htm
http://www.mixerandplantparts.com/Isolator-Mount-Rad-Support-Tier-3-p/30081.htm
http://www.mixerandplantparts.com/Spacer-Strut-My09-p/32024.htm
http://www.mixerandplantparts.com/Spacer-2-Od-X-1-25-Id-X-1-4-p/29661.htm
http://www.mixerandplantparts.com/Spacer-2-Od-X-1-25-Id-X-1-4-p/29661.htm
http://www.mixerandplantparts.com/1-2-Inch-Zinc-Plated-Flat-Washer-For-Transfer-Case-p/19331.htm
http://www.mixerandplantparts.com/1-2-Inch-Zinc-Plated-Flat-Washer-For-Transfer-Case-p/19331.htm
http://www.mixerandplantparts.com/1-2-Inch-Zinc-Plated-Flat-Washer-For-Transfer-Case-p/19331.htm
http://www.mixerandplantparts.com/1-2-Inch-Zinc-Plated-Flat-Washer-For-Transfer-Case-p/19331.htm
http://www.mixerandplantparts.com/1-2-Inch-Zinc-Plated-Flat-Washer-For-Transfer-Case-p/19331.htm
http://www.mixerandplantparts.com/Bolt-HHCS-1-2-13-X-1-5-Gr-8-Zinc-p/29604.htm
http://www.mixerandplantparts.com/Bolt-HHCS-1-2-13-X-1-5-Gr-8-Zinc-p/29604.htm
http://www.mixerandplantparts.com/Bolt-HHCS-1-2-13-X-1-5-Gr-8-Zinc-p/29604.htm
http://www.mixerandplantparts.com/Nut-Autostyle-1-2-13-Grc-p/19354.htm
http://www.mixerandplantparts.com/Nut-Autostyle-1-2-13-Grc-p/19354.htm
http://www.mixerandplantparts.com/Nut-Autostyle-1-2-13-Grc-p/19354.htm
http://www.mixerandplantparts.com/Isolator-Mount-Rad-Support-Tier-3-p/30081.htm
http://www.mixerandplantparts.com/Terex-Advance-Cab-Mount-Rubber-Isolator-For-Cab-R-p/19492.htm
http://www.mixerandplantparts.com/Weldment-Tube-Radiator-Strut-p/29447.htm
http://www.mixerandplantparts.com/Shroud-Radiator-Tier-3-p/29382.htm
http://www.mixerandplantparts.com/Terex-Advance-Washer-Structural-1-2-Astm-A325-Pf-p/19093.htm
http://www.mixerandplantparts.com/Terex-Advance-Washer-Structural-1-2-Astm-A325-Pf-p/19093.htm
http://www.mixerandplantparts.com/Terex-Advance-Washer-Structural-1-2-Astm-A325-Pf-p/19093.htm
http://www.mixerandplantparts.com/Terex-Advance-Washer-Structural-1-2-Astm-A325-Pf-p/19093.htm
http://www.mixerandplantparts.com/Terex-Advance-Washer-Structural-1-2-Astm-A325-Pf-p/19093.htm
http://www.mixerandplantparts.com/Weldment-Radiator-Stand-2007-p/29566.htm
Chris
Highlight




